W3 ER Y EHT & H31TE A

1 7

X/ 2(- VP EFE L K -

¥9/11(2) KRp =z~ 25 RNEA LT 4 pl5k o

(5‘,4‘5]3\7)1‘/9’:3,3&—':?
#5a)

4t

%9/12(z ) KpzZ~» EoEmEFTREAL o

2 A% 8:05-8:35 ¥ &

(T#P FY 2™
B~ HZF)

%9/12(x ) ~ 9/19(2 ) # 7+ ¥ #

9/13(T )3 ic AL B 45 2% o

X9/17(= )¢ &2z iE—

#%9/20(F YR 78 L B (RN AF & 3% 0 SR ATEERLIF H0)

L3

%10/8(= )E A T & 5B, &, Hik P X FlplskERF I L,
e R ERFOES
FREEFAL
%10/10(z YR A p *&cig—- % =
I .2A0_Q -
W10/18(F )EEErTiad € 3% + 8:30-9:30
%10/23(= )7 # 2 DAt TR REE R
L
MIL/4(- )5 4 FHDRGT ) g s b

%11/6(= )-11/7(2 ) % - =< THFE

I RE STt

X11/9(+ ) FEFF FLESL & A p

MI1/10-11/12(p ~2 )= ~=

oy

BITHE O

S11/20(= )T & o) b Al 5

8:00-10:30




%11/27(=2) I # R KE-48 F50 FIEF ey R (i
._L: )]
X12/T( Rk Fles ¢ 0 12/27(3 )i 748 B
X12/11(2) T RRY 5 ¢ (F = 8:30 B4 k-4 61
#7%)

12/23 FREE (P L , L
S (-)7 4 FRER (P LE) £ p B
%12/25(T Ve TE A KA T & 5T EH 4

X12/27(1 )R Bl ¢ 4F -

%12/31(z )z ~= 2 4 &l

BT A .

]

—

#X1/6(= )k = 1B ATAGAL

%1/9(z ) ~ 1/10(F ) ¥ % = 83+

¢ -EL
B

X1/20(=2 )% %50

=810 B 4

%1/21-2/10 * % B |

K2/3~2/T 5 #ITR S 8:30-16:30
/1= )™ S8 B 8 % | HEFEHIR

VUIRRLZRIEEFTF

FrRERMFELTT ko - L2583 T PHEEg | HHHE |

v{lﬁ‘,ﬁ—lt%iﬁﬂ?%“ e gl frd Bk |y F;-’;\.E:




